
Tally and Tot-up 3 
 

 
 
 

 

 

There are 10 badgers living in a sett. 
 

How many sets of 5 would that be? ……… 

 

How many sets of 2 would that be? ……… 

  
 
 
 

 

 

How many badgers would there be in:  

2 setts ………………                                    5 setts ……………. 

8 setts ………………                                    3 setts …………….. 

4 setts ………………                                    9 setts …………….. 

7 setts ………………                                    6 setts …………….. 

 

How many setts would I need, to see: 

20 badgers …………….                               80 badgers ………….. 

30 badgers …………….                               60 badgers …………... 

70 badgers …………….                               50 badgers …………… 

40 badgers ……………                                90 badgers ………….. 
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Go on, have a go at these 

puzzles. 

Did you get them right? 

Well done! 


